RINE6 5 (2) 1 (EER R UE6LMIR)

=
=

%

EAE BB L S LT

Z £ X B A VHMEE/IDERANESREEEET
BB E L B 2hhER
Z F B B BAETEEDEEHANS
A fL B B 26538278 (K) R - 4 11BR004y
A #H R W
AFLEA 1R AAL&FE (M)ES 2B AFL&4E (M) SE AL S48 ()| {5 Z
(—*b) BERIERNE| [ 00, 000 (450,000 S AL
A=y AR [, 60, 000 J5700, 000
WEREAZEEF— | 2000, 000 [ 750, 000
e 450,000 150,000
[#==F r Ry £~ G \ C{‘}O, 000 lt‘??(b 000
(—RN) RgSHres—| 1,410, 000 (690,000

S =

LRRAHRIC1005 D8I YT DAL NE L= & 5AES Lo EAIEA T Ths,

ARIEA B L. FREOREE T BB BE. EAFT T

B EA Bt BICRE SN E N SBE L,




RINHEOF(2) (8645, BOER VB 74BR)

RKERAE

ML  HES HERER
2% & & & B AE EHEGEE
e 1,782,000 1§ | AfLZs0|  —ix ek ORBERK TNKERE DRRERE
(HEBHYE 132,000 @) | oFE: Z Dt ( ) |EREEMERE ERNY=TULIAAUREE
] . ENBERE OB
gy (BB py | MUR ] FR26E SA2TE LwiokmmE sk
=0 |owwes M) |[EERRicmoEFEE 1 B A M IS TRy
(2 BiIE %8 M) -
M
(B B 2 4 M [EERmcmsrims 2 ERAOESDHEFEREL - EH
TE2 :
(e M)
(B BiHE 4 %5 =)
A |ERZG sk i En 3
e GBS M)
RS i )
(B 4 M)
¥ E 1,854,360 [ B A R RATHEAR W &
fli % |GEEBUELE 137,360 A3) | , . B  EH264E 47 1H
TR T S| FR26% 47 1H = TH2TE 3A31H
(EFD | - o B Y® % A B
AT ERABXEE2-19—-18 EEL| ¥R # A H T EH £ A H
(P 3434 F5) N \, B Tm % A H
EE2 ook & B H = T £ A H
. B ¥ 4 A H
J— A B Hz A IR 5[F
() B R 2K L £E3 | £ % &£ A H = Tm o~ A n
FAEEA B D & F %= £ B o
R 264/ A e A T EYIN-E= BT P E N A

~



